## 15th Annual Benefit Auction For Bethany Birches Camp September 23, 2017 LOT LIST

Lot #	Item Code	Description	Donor	Sold for: (total for ea. line)
1	LDMASY	Larry's maple syrup, 1 quart grade A golden & 1 quart grade A dark 2 x \$375	Larry & Althea Derstine	\$750
2	LONGNU	(4) \$25.00 gift certificates to Longacre's Nursery 2x \$80, 2 x \$70	Longacre's Nursery	\$300
3	SUGARB	Sugarbush gift basket of VT products by Sugarbush Farm	Sugarbush Farm	\$325
4	WOODTT	Wooden toy, tractor trailer with excavator	Merlin Hartman	\$225
5	COUPHE	"Cooking Up Health" autographed cookbook with a collection of recipes by Heather Wolfe, Dietitian & Health Coach at DHMC. Originally published for employees and now out of print.	Heather Wolfe	\$125
6	KIAICS	Kitchen Aid classic series stand mixer complete with bowl, whisk beater, dough hook, paddle beater, and booklet. Used but in excellent condition.	Abner & Virginia Schlabach	\$275
7	CCSCGB	Champlain Chocolates - Signature Chocolate Gift Basket Handwoven New England basket filled with VT gourmet chocolates	Gallagher Flynn	\$200
8	VTTBFA	(2) 15" BBC Teddy Bears - bears with t-shirts that have the BBC Logo (1) 15" VT Teddy Bear with Vermont Logo sweater 3 x \$70.	VT Teddy Bear Factory	\$210
9	CTRACO	(1) Flourless Chocolate Torte w/Raspberry Coulis - Created for you at a time of your choosing and will be delivered within a 35 mile radius	Gwen Groff	\$125
10	FLTRUN	Falling Leaves table runner 16 x 38"	Mary Guntz	\$60
11	IBEXGC	\$100 gift certificate & light-weight Merino stripped Infinity scarf	lbex	\$225
12	CHADCH	"Chad's Chickens" - 3 Free Range Cornish White Chickens (3-4lbs) - Frozen 3 x \$120.	Chad & Jen Yoder	\$360
13	VIDDVD	VIDEO-to-DVD transfer service, up to 20 hours of VHS, 8mm, VHS-C, or Hi8 video formats transferred to DVD with multi-disk storage album & color album cover (no reel to reel film transfers)	Jay Delp	\$100
14	MAATMA	1 massage by Angel's Touch Massage, expires November 2017	Rebecca Havard	\$110
15	RBEGGS	Two 1 quart jars of mixed red beets and red beet eggs from Joanne's kitchen 2 x \$70.	Joanne Hershey	\$140
16	MFBCCA	2, 1# batch of Maryland fresh blue crab cakes (5-6 cakes) picked up in Bridgewater with a weeks notice 1 x \$150.	Phil Wilkerson	\$150
17	KILSKI	2 sets of 2 One Day Killington Ski Passes for the 2017 - 2018 Ski Season - no black out dates! 2 x \$200.	SP Land Company	\$400
18	BFATRC	Basket of Fair Trade items from the Agape Shop, coffee, assorted chocolate, fruit & nut bars, hot cocoa, a mug and more	Kimberly Watkins	\$200
19	BBCAME	(2) Home & Harvest Baskets of assorted handmade items, canned and dried garden products, Maple syrup, home roasted coffee beans and more, all made and produced by BBC Association Members. Each basket may have different products and items so bid for the one you	BBC Association Members	
aye		want. 2 x \$225.		\$450

20	FLBAQT	Preprinted flower basket quilt top, 86 x 93", hand quilted by Della &	Della Gross	
20	FLBAQI	Marie Hange	Della Gross	\$250
21	ABSFDS	(2) Framed and matted 5 x 5" photographs by Fred, 1939 American Bantam, Slaty Fork, W. VA & 1949 DeSoto, Singers Glen, VA 2 x\$55.	Fred Schlabach	\$110
22	BBBCBG	Basket of BBC Baby Goodies! 5 BBC Spit Cloths, 1 BBC hooded	Katie Gehman	Ψιισ
		towel and a BBC Stuffed Animal. Spit Cloths and Hooded Towel		
	22112112	hand sewn by Katie	15.	\$40
23	PCHPVF	6 half gallon bottles of World Famous Pennsylvania Chocolate Milk from Penn View Farm 6 x \$70.	John and Paul Hockman	\$420
24	MAPTBF	Maple syrup from Triple Brook Farm; 2 gallons + 8 pints 8 x		ψ420
24		\$60, 2 x \$110		\$700
25	BGOCLC	2 folding wood chaise lounges made of Spanish cedar with teak oil	Dave & Bev Goshow	
		finish and stainless steel fasteners 2 x \$150.		\$300
26	QUIKIT	Two quilt kits with batik fabric to be sold by choice; Merry-Go-Round,	Ruth Ann Glick	¢420
27	WHSGBA	52 x 52" OR Mega Mod, 60 x 80" 1 x \$220., 1 x \$200.  Whisper Hill Soap Gift Basket	Whisper Hill	\$420
21	WIISGBA	Whisper Fill Soap Gift Basket	VVIIISPELTIIII	\$65
28	PITNHP	Pitcher by Grace Pejouhy□	Naught Hill Pottery	\$60
29	PDFCRP	2 - PA Dutch Funny Cakes from Russell's kitchen 2 x \$90.	Russell Pejouhy	\$180
30	STBLHQ	Vortex Gems and Jewels quilt, 60" x 70" hand quilted by Mary (made	Mary Guntz	Ψίσσ
	·	from quilt kit purchased at last years auction)	,	\$105
31	HMWBRL	(2) handmade Walnut Benches 2 x \$500.	Rich Leatherman	\$1,000
32	FAPHAC	3 Framed pastels by Lynda, "Fleece At Peace" 7 x 12" & "Hear a Cluck There a Cluck" 9 1/2 x 9 1/2" & Water color/pastel, "Rural Delivery" 9 x 11" 3 x \$175.	Lynda Knisley	\$525
33	MASSLC	Two 60 min. massages by Linda 1 x \$175., 1 x \$200.	Linda Canepari	\$375
34	HGCBRP	Homemade granola, cutting boards, turned rolling pin 1 x \$150.,	Matt & Jennifer Maxham	φοιο
54	Посыкі	3 x\$30.	Wate & Jennijer Waxnam	\$240
35	CBCSQU	Four (4) \$25.00 gift certificates to Chef Brad's Crazy Sides, Quechee 4 x \$50.	Dead River Company - Woodstock & Chef Brad's Crazy Sides	\$200
36	BEBJBB	(3) Framed and matted 8 x 10" photographs by Fred, 1950 Buick Eight,	Fred Schlabach	<del></del>
		& 1948 Buick from Harrisonburg, VA & Jed's Beach Buggy (1952		
		Chevrolet Suburban)-Woodstock, VT 1 x \$150., 2 x \$100.		\$350
37	GOLDHC	4 hours of house cleaning to a local homeowner by Goldcoast House	Sarah Kaminski	<b>#</b> 400
20	SLIDSC	Cleaning Two lots of 250 of your 35mm slides scanned into digital format on my	Allen Guntz	\$130
38	SLIDSC	Nikon digital scanner. Includes color correction and tweaking of your	Allen Guntz	
		photo. Returned to you on a CD/DVD ready to import into your		
		computer. (no slide show) 2 x \$150.		\$300
39	COLOBA	Coffee Lover Basket	Jen Yoder	\$125
40	KNITKW	3 different knitting kits with patterns. Each kit includes a skein of hand dyed wool yarn, knitting needles and a pull string bag. One with bulky yarn for a hat, one with fingering yarn for a shawl and one with sock	Kimberly Watkins	
		fingering yarn for socks 3 x \$140.		\$420
41	HPMJJL	Handmade pottery mirror with hues of dark teals, greens, and	Jill & John Landes	
		browns.		\$50
42	IBEXWT	Reclaimed wool tote bag	Ibex	\$120
43	FREDMM	Fred Mueller's unique mandolin - Fred was a local artist, musician and a friend of Lloyd Moyer. In the early days of the camp he would come and play for the campers. Several of his paintings were of Bethany Birches Camp and Bethany	Valerie Bridge	
		Mennonite Church.		\$450
44	DAHPQT	Preprinted dahlia pattern quilt top, 88 x 93", hand quilted by Della and	Della Gross	Ψ100
• •		Marie Hange		\$275

45	DDDDM	Dinner Delivered! Dinner for 8 made by Donna Miles delivered within a	Donna Miles	
		25 mile radius of Bridgewater. She will work with you on menu style of		
		your choice and accommodating dietary restrictions. Dessert included!		<b>#</b> 005
	CAVITCC	Laura Carta Varra est acordan acrt consideration and alcohology. Business dis-	Data Danasah auran	\$325
46	CAVTGC	Large, Carts Vermont garden cart, used but in good shape. Pneumatic wheels with removable end gate for easy loading and dumping	Bob Rosenberger	\$225
47	WOFAMK	Two (2) \$75.00 Gift certificates 2 x \$200.	Woodstock Farmer's Mkt	\$400
48	MASSLT	One hour massage at my office in Woodstock	Leanne Tapley	\$75
49	VAILCO	One bedroom condo in Vail, walking distance to the gondola. Feb 10-17, 2018. Sleeps 4. Heated Outdoor Swimming Pool 2 Outdoor Hot Tubs Fully Equipped Kitchens in Every Unit Complimentary On Site Parking & Skier Shuttle Weekly Complimentary Wine & Cheese (seasonal) Walking Distance to Golden Peak, Ford Park & Vail Village	Wayne and Joanne Brenneman Speigle	
		http://www.thewren.com/		\$1,500
50	WATBBC	Sponsor a child's week at camp by paying for a scholarship in our "Kid's to Camp Fund". You'll get Thank You letters	Maybe you?	
		from campers at the end of summer! 19 donors		\$10,600
51	PLAMAT	Set of 4 placemats, machine pieced, pineapple pattern	Mary Guntz	50
52	PIENMO	A pie a month for a year. Some sweet, some savory. Local delivery available.	Naomi Moyer	\$425
53	BMMIFS	i i	Fred Schlabach	Ψ120
		repurposed into mirror. Dimensions 32-1/4"W x 30-1/2"H		<b>#</b> 225
54	CARDBF	Cardinal bird feeder made by Bob	Bob Moyer	\$225
55	GFFPIG	One whole pig grown on the Gehman family farm in Coopersburg, PA.	Barry Gehman	\$80
33		Butchered at a local butcher shop (Baringer Brothers Meats in Richlandtown, PA), to be picked up by buyer. Cut and wrapped how you choose. Includes: loins, chops, bacon, sausage, scrapple, hams, etc		\$800
56	APICKL	6 quarts of seven day pickles from Althea's kitchen 4 x \$100., 2 x \$35	Larry & Althea Derstine	\$470
57	QUAEXP	(2) Quark Expeditions winter jackets Yellow. One is XS. One is XL 1	Mountain Lake Builders	
	HANEJE	x \$85., 1 x \$70. Hanging Necklace/Jewelry display 1 x \$70., 1 x \$60.	Inc. Angie Earle	\$155
58	GOLFQC	Golf @ Quechee Club, Certificate for one round of golf for 4-	The Quechee Club	\$130
59	GOLI QU	With carts	The Quechee Club	\$200
60	QUIRAG	Blue and Green Disappearing Nine Patch quilt, 60 x 74", machine quilted	Ruth Ann Glick	\$175
61	BHMICR	8 Bowls of home-made ice cream with choice of toppings - You keep the bowls! (to be served after auction lunch) 8 x \$50.	Chad & Jen Yoder	
62	GMTPUB	(2) Framed and matted 5 x 7" photographs by Fred, 1946 General	Fred Schlabach	\$400
J2		Motor Truck, Harrisonburg, VA & Puggy's Barn, E. Barnard, VT 2 x \$50.		\$100
63	GCUVFC	Two (2) \$25.00 Gift Certificates to Upper Valley Food Coop in White	Jan & Bob Collins	Ψ100
		River Junction (Not the Coop Food Store) 2 x \$50.		\$100
64	KINGAB	King Arthur 8 quart stainless steel bowl filled with flour, bread & muffin mixes, pumpkin butter, spatula, dough scraper, pot holder, dough	Mary Guntz & Laura Beidler	
		whisk and dish towel		\$375

		I		
65	BACKWI	An Evening of Bach, Cheese, and Wine - Enjoy an intimate	Ben Kulp	
		evening with friends as you listen to a private recital of a seminal		
		piece of the cello repertoire, Bach's Solo Suite for Cello no 1 in G Major. Wine and cheese will be provided to further your		
		enjoyment of the evening. Location of your choosing within 30		
		miles of Hartford, VT.		\$175
66	COINBA	4 assorted coin banks made by Bob 4 x \$75.	Bob Moyer	\$300
67	DBTABL	2 Tables made by Dave from posts from old pavilion. Tables	Dave Beidler	
		have a linseed oil finish, are 25" tall and tops are 16 x24", each		
		table has a drawer		\$800
68	TCGMGC	\$35.00 gift certificate to Thrive Center of the Green Mountains Gift	Lisa, Joseph & Myles	
		Certificate	Donohue	?
		Gift certificate good toward any treatment service, retail item, or supplementation item(s). A list can be seen here:		f
		http://thriveinvermont.com/house-rules/		
69	GBWORU	100% wool, hand braided rug made by Brandon's 85 year old	Glen Baer	
		Uncle		\$600
70	QUIJAN	Any Way You Stripe It lap quilt, 47 x 66", machine quilted	Janet North	\$375
71	BASHCG	Basket of home canned goods with set of 6 cloth napkins. Pickled	Doumina Noonan	
		cauliflower, spiced beets, sweet relish, Raspberry jam, Renee's Granola		
		plus more		\$40
72	BLDANA	Breakfast for 2, & Lunch for 2 1 x \$40., 1 x \$30.	Dana's by the Gorge	\$70
73	MAPJAE	Maple syrup, assorted sizes; (2) half gallons, (2) quarts, (2) small glass	Jim & Angie Earle	Φ0.40
	CHBBCO	maple leaf bottles 6 x \$40.	Deine Cook and	\$240
74	SHBRGO	3, 1 1/2# bottles of Honey from Brian's hives 3 x \$85.	Brian Goshow	\$255
75	SNAPLA	Snail planter with plant made by Bob	Bob Moyer	\$50
76	BASKBG	Basket of new popular board games	Jane Rosenberger	\$100
77	GCTTMC	Two (2) \$40.00 Gift Certificates to Tuckerbox, Turkish &	Janice & Bob Collins	<b>4000</b>
		Mediterranean Cuisine in White River Junction 2 x \$110.		\$220
78	MAPDIN	(2) \$50 Gift Certificates to the Maple Diner in Bridgewater 2 x \$110.	Maple Dinner	\$220
79	MILPRH	Milwaukee 1" SDS Plus Rotary Hammer Kit	Goodro in Killington	\$300
80	KJSHWL	\$100.00 Gift Certificate to Koto Japanese Steak House in West Lebanon	Friend of BBC	4000
00		·		\$50
81	DANBUT	Danforth buttons in the form of flowers 3 x \$120.	Gallagher Flynn & Brenda	
			Metzler	\$360
82	SCHDWY	Two (2) scarves made with hand dyed very soft wool yarn and knitted	Kimberly Watkins	
		on an antique circular sock machine. They are about 80 inches long so		
		they can be wrapped around your neck 2-3 times or worn in a variety of		\$100
83	BBCFSC	ways. 2 x \$50. Fred for a day. 8 hours of labor (materials extra). Carpentry, painting,	Fred Schlabach	Ψ100
03		light plumbing and electrical, etc.		\$800
84	POTPLA	Two pottery platters made by Barbara Lane 1 x \$325., 1 x \$200.	Brenda Metzler	\$525
85	DOHAST	\$50 Gift Certificate towards Donna's Hair Studio. GC can be put	Donna Kempson	· ·
		towards a haircut, color or any of Donna's services. Donna's is located		
		in the Bridgewater Mill Mall.		\$50
86	SSSWI	All-Day Lift Tickets for 4 Guests at Suicide Six Ski Area.	Woodstock Inn and Resort	\$150
87	OKEMMT	(2) One day lift tickets for Okemo Mt.	Okemo Mt.	\$130 \$125
88	VMSATS	2 Quarts of Maple Syrup. Vermont Grad A Amber Rich Taste.	Tom Smith	
89	* 1413/113	Fresh cut flowers 2 x \$15.	Beidler Family Farm	\$130
	1	LEGIT CULTIONETS   A A PTO.	DEILIEI FUITIIIY FUITII	\$30

90	Total Live Auction	\$34,815
91	Total Silent Auction	\$1,715
92	(Other includes apples, cider, mugs, coffee) Total Other	r \$1,251
	(Additional Donations)	\$3,261
93	Total all above	\$41,042
94	Matcl	\$10,000
95	Grand total	\$51,042